
RYOBI SDS Rotary Hammer – MODEL NUMBER SDS60

�

16
1

1

10

11

2
17

22

23
24

25
26

30

29

31
32

33

3427

28

3837

27

19
21

21

18

18

19 20

20

6

8

9
12

13

49

52

51

54
55

56

57
58

59

50

53

14

6

7

4

3

5
15

35

32 48

36

39
40 41 42

43 44
45

46

47



RYOBI SDS Rotary Hammer – MODEL NUMBER SDS60

�

	 1	 039183001087         		 Housing ASSEMBLY................................... 1
	 2	 039183001109	 	 DATA LABEL................................................... 1
	 3	 039183001107	 	 CORD TAG LABEL......................................... 1
	 4	 039183001077	 	 BEND RELIEF................................................. 1
	 5	 039183001078	 	 Power Cord............................................... 1
	 6	 039183001075	 	 screw (M4.2 x 16 mm)................................. 5
	 7	 039183001076	 	 CORD CLAMP................................................ 1
	 8	 039183001082      	 	 RIGHT CAP INDICATOR................................. 1
	 9	 039183001073	 	 TERMINAL BLOCK......................................... 1
	 10	 039183001081	 	 Bubble level.............................................. 1
	 11	 039183001108	 	 LOGO LABEL ................................................ 1
	 12	 039183001068	 	 switch.......................................................... 1
	 13	 039183001083	 	 live tool indicator.................................. 1
	 14	 039183001079	 	 screw (M4.2 x 13 mm)................................. 3
	 15	 039183001084	 	 LEFT CAP INDICATOR................................... 1
	 16	 039183001066	 	 FIELD.............................................................. 1
	 17	 039183001065	 	 screw (M4.2 x 70 mm)................................. 2
	 18	 039183001070	 	 brush ASSEMBLY....................................... 2
	 19	 039183001072	 	 Insulator.................................................... 2
	 20	 039183001069 	 	 brush holder............................................ 2
	 21	 039183001071	 	 Rubber BumpeR......................................... 2

	 22	 039183001113	 	 Armature Assembly................................. 1
	 23	 039183001063	 	 air deflector............................................ 1
	 24	 039183001061	 	 o-ring........................................................... 1
	 25	 039183001112	 	 Intermediate Cover Assembly............. 1
	 26	 039183001036	 	 washer........................................................ 2
	 27	 039183001034       	 	 Washer........................................................ 2
	 28	 039183001035	 	 pin.................................................................. 1
	 29	 039183001033	 	 Cylinder...................................................... 1
	 30	 039183001032	 	 o-ring........................................................... 1
	 31	 039183001031	 	 Impact Piston............................................ 1
	 32	 039183001026	 	 C-ring .......................................................... 2
	 33	 039183001085	 	 gear ASSEMBLY.......................................... 1
	 34	 039183001110	 	 Output Shaft Assembly......................... 1
	 35	 039183001017	 	 steel ball................................................... 2
	 36	 039183001080	 	 Gear Housing Assembly......................... 1
	 37	 039183001055	 	 Washer........................................................ 1
	 38	 039183001111	 	 Intermediate Shaft Assembly.............. 1
	 39	 039183001051	 	 pinion assembly........................................ 1
	 40	 039183001050	 	 small washer............................................ 1
	 41	 039183001049    	 	 cone spring............................................... 1
	 42	 039183001048	 	 washer........................................................ 1

	 KEY	 PART
	 NO. 	 NUMBER 	 DESCRIPTION	 QTY

PARTS LIST

* STANDARD HARDWARE ITEM – MAY BE PURCHASED LOCALLY

The model number will be found on a plate attached to the motor housing. Always mention the model number in all correspondence regarding your
RYOBI SDS Rotary Hammer or when ordering repair parts.

	 KEY	 PART
	 NO. 	 NUMBER 	 DESCRIPTION	 QTY

WARNING: Improper repair of a double insulated tool can result in damage to the double insulation system possibly causing electrical shock or 
electrocution. Any repairs requiring disassembly of your tool requires safety testing and should only be performed by a Ryobi Authorized Service 
Center. For the service center nearest you call 1-800-525-2579. 



RYOBI SDS Rotary Hammer – MODEL NUMBER SDS60

�

	 43	 039183001047  	 	 spring.......................................................... 1
	 44	 039183001045	 	 Special screw........................................... 4
	 45	 039183001044      	 	 lock pawl................................................... 2
	 46	 039183001043	 	 compressION spring............................... 2
	 47	 039183001042	 	 C-ring........................................................... 2
 	 48	 039183001008	 	 screw (M4.2 x 35 mm)................................. 4
	 49	 039183001039	 	 DEPTH STOP ROD......................................... 1
	 50	 039183001037        	 *	 screw (M8 x 90 mm hex hD.)..................... 1
	 51	 039183001038	 	 SQUARE WASHER......................................... 1
	 52	 039183001040	 	 Clip Hoop.................................................... 1
	 53	 039183001041	 	 auxiliary handle...................................... 1
	 54	 039183001006	 	 washer........................................................ 1
	 55	 039183001005 	 	 spring.......................................................... 1
	 56	 039183001004	 	 control washer...................................... 1
	 57	 039183001003	 	 control set............................................... 1
	 58	 039183001002	 	 snap ring.................................................... 1
	 59	 039183001001   	 	 front Cover.............................................. 1

	 60 	 039183001115	 	 1/2 in. AUXILIARY CHUCK ASSEMBLY......... 1
	 61	 039183001090	 	 1/4 in. BIT....................................................... 1
	 62	 039183001091	 	 5/16 in. BIT..................................................... 1
	 63	 039183001092	 	 3/8 in. BIT....................................................... 1
	 64	 039183001093	 	 7/8 in. FLAT CHISEL....................................... 1
	 65	 039183001097	 	 Carrying Case........................................... 1
	 	 987000173	 	 OPERATOR’S MANUAL (039183001098)
	 	 09-18-07	 	
	         	 (REV:01)

	 KEY	 PART
	 NO. 	 NUMBER 	 DESCRIPTION	 QTY

PARTS LIST

* STANDARD HARDWARE ITEM – MAY BE PURCHASED LOCALLY

The model number will be found on a plate attached to the motor housing. Always mention the model number in all correspondence regarding your
RYOBI SDS Rotary Hammer or when ordering repair parts.

	 KEY	 PART
	 NO. 	 NUMBER 	 DESCRIPTION	 QTY

WARNING: Improper repair of a double insulated tool can result in damage to the double insulation system possibly causing electrical shock or 
electrocution. Any repairs requiring disassembly of your tool requires safety testing and should only be performed by a Ryobi Authorized Service 
Center. For the service center nearest you call 1-800-525-2579. 

Items not shown




